EAGRAROBREERT — 2 N— ABISH —F 202082818 (£) 19E{£&5H

IR C2—7# C2 ¥5%4m L ‘ (xfz] 2 ‘ [Emsh]l  — | 4 (&) 1400M &
[AE4£] 1% :260,000” ~ 237%&:78,000 ™M  33%&:26,000M . 43%&:16,000H . 537 :10,000
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
- N HEBIEfE :30. —-3-1- . — HETE (£8)
1 2 YLI4LT TR 6 5.0 1(%))3 5-3-1-1 40.4 3 (4_744) mmg: 8
LY LFAN—b B:ILAZXFX YR BRLBsS
. Al :30. —6-4- . — KHaxE (£8)
oMY 7| T/ —LRA g [ AR ? ff) Smes
Rib—tPRILEY BiALS 3TN =g
3 NPT EE T > 5 /SJ%I: 1;(320>.7 11-10-10-4 | 38.9 | — 4 <4_550) ﬁ;gﬁ;&? (#E8)
L:¥avrriL—"7 B:ieAHhTL Y oS4
= =55 44 | BRIt 1:31.0 1-1-3-3 | 40.6 | — 5 43 | FURTE (£H)
4111 |7TAITLZTZ)— 54.0 (1 1/2) 1) M
R:HYYRT4 G52 BETRN)—Fr X AH R
. . ilm[} .31, -5-5- . - ABRBR (EE)
5lgli0) 74 —Fa>hLx it 5 aa 1(311)2 4-5-5-6 | 40.4 1 :1+724) pome =1
RixAL1=ZTy7—R BNHRFA b HE77—»4L
o o HZKFRA :31. -9-9- . = HEXE (£E)
6|5 He /A o] Ly | eees [we| - | @ | o2 |EEe
L:T7yv3IT3—L BiNRZ—L-—> AH +F
- e . _7-6- — EARAT (EH)
7 6| HFAPT TR it 5 EA 1.(311>.5 8-7-6-7 | 40.4 10 (4_525) T’IJ?%I% i
LTIy ok—Y BHTIAXT+—2 AH tH
S s 7 | IS 1:31.8 2-2-2-5 |41.5| — 7 459 | LIHERE (£H)
8 3 2—=1)—=2 54.0 (1 1/2) #3) ‘)E#gﬁ
RixFA1=G7—2 B:FIy2TyH— P @A
. . AhEA .32, —g-8— . — FAEAE ((£8)
917l 9 A AFRATHRD 6 56.0I_ 1(342)6 7-8-8-9 1.4 6 :’519) s 8
RV IRy b BieshhOT TERAENS
D Spe s 47 | REEC 1:32.9 10-11-11-11] 40.8 | — 11 467 | FEARRAT (1EH)
10/7| 8| ¥>RA-—XE> 54.0 (1 1/2) Ca | (@ J PN
L:O—JX1244 B:IT77—-Xb547 XE ES
P oo — ft 4 | WTHRE 1:33.2 3-4-7-10 | 42.1| — 8 a1 | FUERF (ER)
1118l11|71>¥a=7 54.0 (1 1/2) Cro) | MEZA
R:27)—>e—0— B4/t bH-I FE &
@ 1 —F—&EBlIEfL
13—7+— 1,3,11,10,2,7,9,6,5,8,4
2=l=C— 1,3,2,11,10,7,6,9,5,4,8
30—7+— 2,3,1,7,10,6,11,9,5,4,8
41—+ — 2,7,1,4,3,10,6,5,9,11,8
[ N3
BB 2 920H 714K 2-7 360M e 2-6 1,010 3JEHE 2-4-7 7,080/
8 B 2 270M 2-4 1,500M B = 2-7 1,250 K31 2-7-4 46,3004
7 100 4-7 70| | B H 2-7 4,590M
4 590F9

ARICOVWTRDTEEERROODE. TR LI,




